MODEL QUESTIONS - 2021
CLASS - XII
BUSINESS STUDIES
(cTaaTiie 3reaH)
Time : 3 Hours SET - 11 Full Marks - 100

El'&ﬁ?b_vtﬁ'ﬂ W31 (Multiple choice type questions)

Q. W& IR A (Choose the correct answer)
1x30 =30

L. e w1 &1 &Rl ©

Planning is the function of management is :

(a) fgdI (Secondary) (b) WRIA® (Primary)

(c) 319D (Unnecessary) (d) Blg Tel (None of these)
2. e el @

Management is an art of :

(a) @I BTH TR Pl (Doing work himself)

(b) TR | T o B (Taking work from them)

(c)a 3R b TMl @ (Both a and B) (d) s T8 (None of these)
3. T T AR T

The essence of Management is :

(a) RIS (Planing) (b) |G (Organisation)

(c) eI (Staffing) (d) FH9Y (Co-ordinate)
4. JEE T IRA gal -

Scientific management was introduced in :

(a) 1913 (b) 1832

(c) 1903 (d) 1920
5. TSN )T BT I HeelT §

Capital structure affects :

(a) YTIET il m (Nature of business)

(b) AT BT 3MHR (Size of business)

(c) 3MY (Income) (d) 371'3[ q T (All of these)

6. faqur # afferd g &
Marketing Includes :
(a) %I (Purchase) (b) fAHT (Sale)
(¢) ¥USRY (Warehousing) (d) SUF T4 (All of these)



10.

11.

12.

13.

14.

foxfrg wawer foofa ofar 2

Financial manager takes decision of :

(a) foxI (Financial) (b) AT (Investment)

(c) YT (Dividend) (d) SUF T4 (All of these)
HHARY TeTT B

Employees training is :

(a) 3FII¥IDH (Un necessary) (b) JATAAD (Necessary)

(c) 1A (Compulsory) (d) AR (Luxury)

e & WR BN 8 :

How many levels of management are there :

(a) 2 (b) 3 ©)5 (d) 7

T U U 8| T8 DB &
‘Management is a profession’ This statement is of :

(a) SISl 3RO 29 (George R. Terry)

(b) IMR®T Uawe Q?:ﬂﬁ*lw (American Management Association)

(c) TR BT (Henry Feyol) (d) AR To TWA (Lawrence A. Appley)
“AE S BT U dEr I §

Father of “Scientific management” is called :

(a) UecH R (Elton Mayo) (b) Tho Sdcg TR (F.W. Taylor)
() TR BAId (Henry Feyol) (d) T | BIg TRl (None of these)
ColR gIRT dellfieh Y&+l @ JfwciiTel feby T AT o -

The experiments done by Taylor under scientific management were :

(a) I 3TETTT (Motion study) (b) UBM LTI (Fatigue study)

(c) FHY BT 3TTT (Time study)  (d) I (All)

yawe & diag Fagldl $ I feba -

Fourteen Principles of management is given by :

(a) 8 BT (Henry Feyol) (b) Tho Tdeq ek (F.W. Taylor)
(c) Ulex $PR (Peter Drucker) (d) ToUdo ARG (A.H. Maslow)
A1 fAshell ATl 49T @ :

Wholesaler sells goods to :

(a) SUHRHT B (Consumer) (b) YaxT fasmarent @ (Retailers)
(c) 31@% W Bl (Authorised dealers) (d) ST‘P}[ 9 ﬁ—{%& EH| (None of these)
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16.
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22.

I W @9 fbar a7 U= 2

Money spent on staffing is :

(a) 3TTTID (Necessary) (b) T (Wastage)

(c) 99T (Investment) (d) 378 ¥ BIS 78l (None of these)
et & 9 i e W R

Which of the following is not current Assets :

(a) BICAIT (Stock) (b) TER (Debtors)

(c) TRG Y (Preliminary expenses) (d) 371'3[ Bl EbT%‘ T8l (None of these)
frgfthenor forer & -
Staffing is the responsibilities of :

(a) 9= TR T (Top level management)
(b) &Y TRIT 9 (Middle level management)
(c) T YR ve (Low level management)

(d) 371'3[ q EbT%‘ EH| (None of these)
G G FEw | afRferd B

Human resource management includes :

(a) Ci| (Recruitment) (b) IIT (Selection)

(c) yfRreTor (Training) (d) 371'3[ q T (All of these)
e @ Je & R R e el §

Direction is required at the level of management :

(a) 3% (Top) (b) EIH (Middle)

(c) 9 (Lower) (d) 379 J T (All of these)
G H FAR B JH1aY0T TG $T 8T Il AaWD 3 -

Why is an affective system of communication essential in business :

(a) e @ ferg (To guide) (b) X@I D forw (To information)
(c) o @ forw (To instruction) (d) ST‘P}[ T ol (All of these)
Jenfre gawr # fovermo €

Analysis in Scientific management is :

() 25% (b) 50% () 75% (d) 379 | IS 78! (None of these)

ISIE Je= § IUTCH BNl @

Production in scientific management is :

(a) 31ferdaH (Maximum) (b) gIdH (Minimum)

(¢) AM=I (Normal) (d) 378 ¥ BIg 78l (None of these)
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24,

25.
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BN BUI U o -

Henry Fayol was a:

(a) AN CEIIRED (Social scientist) (b) T ZollRR (Mining engineer)

() AITHR (Accountant) (d) ST sTrﬁﬁPT\’ (Production engineer)
e § S SAraanie waiaRer o R T8 ©

Which of the following is not a characteristics of business environment :

(a) 3rff¥aaar (Uncertainty) (b) HHATRY (Employees)

(c) oI ITHDAT (Relativity) (d) Sfferarian (Complexity)

BB ¥ Ao I B

Centralisation refers to :

(a) Yo o H BRI 1 ﬁ?@ﬁ XYl (Retention of decision making authority)
(b) fyoia o # IReRT BT fawRg o (Dispersal of decision making authority)
(c) TN &7 o Bg g (Creating divisions a profit centre)

(d) T sl FAAT IARIWN BT WierT (Opening new centres or branches)

R @ favaR & ared €

Span of management refers to :

(a) TEIHT B TR (Numbers of management)

(b) U Yaed &I PRy & 999 @1 A9 e fory I@a! MR & T8 (Length

of term for which a manager is appointed)

(c) T SRBR & I=d R Bl ARFRN @I TN (Number of

subordinates under a superior)

(d) N ve & TS B T (Numbers of members in top management)
TG & iad # Wl B @

Recruitment in the life of organisation is :

(a) Uh dR (Once) (b) 3 IR (Twice)

(c) TP (Occasionally) (d) R (Continuous)

faer &1 faferlr 2 -

Method of development are :

(a) Ux TN (Position rotation methods)

(b) DT UIGThH (Short term syllabus)
(c) BRI @1 fabT (Development on job)
(d) 379 J T (All of these)
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36.

37.

I IF ATIF & T
Maximum wide scope is of :
(a) 9TU€ (Brand) (b) W& (Labelling)
(c) BT (Packaging) (d) UUR T (Trade mark)
quTf BU Wl BT I g5 o
Legally SEBI was established in :
(a) 1988 (b) 1990 (c) 1992 (d) 1994
Reh o W
Fill in the blanks
WRT ¥ Y Ugel el fauoll @Y IO eI
The first stock exchange in India was established in ....................

1857/ 1877/ 1887/ 1987

1x10=10

Consumer dispute settlement agencies are ....................

SEIKE] (District Forum) / IN®NR (Government)

Advertising media is ............ooeiiiiiin
U fasmoE (Press advertising) / €lel CEIER] (Mural advertising) / ST (Both)
re], Tl & FHAT Bl € S IBS H URATT BT & o

Current assets are those assets which get converted intocash ................

Udh ¥ O a9 & X (within one & three year) /
Udh T B R (within one year) /
B: HIE B e (within six months
TN AR H |fAferd 2 |

Capital structure includes ................coooeine.e

39T q\Trﬁ (Share capital) / oI-d q o (Deposits from public)

Budgetisa ................ Of management.

fo=ir faaro (Financial statement) / Eap| (Function)
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Communication shouldbea .................. traffic.

T® AT (one way) / TGAFTT (two way) / GFI (both)

The primary causes of America’s prosperity is ............

T (recourses) / et Tee] (efficient management)
3 oy I 4

Very short answer type question

qawT o1 R 3 © 7

What is meant by management ?

WY S PIg & Ted gqrd |

State any two elements of co-ordination.
T 3BT TG DI | Bl & ?

Which is the best organisation ?

TIEE B 8 7

Who are supervisors ?

e R @ g ?

What is management control ?

IR TR 5 Fed § 2

What is share market ?

[T Bl aRHIYT BT |

Define planning.

RO 9 379 T G & 7

What do you mean by motivation ?

T At el o @ b e e de R |
Why it is said that planning is looking back.
HrIe ol ®7 B 7 ?

What is working capital ?

2x10 =20 Marks
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oY S e

Short answer type question 4 x 5 =20 Marks

"UF WIS H G B fedqge N mawgddl el anil | fdEr & |
“Supervision is not at all required in an organisation”. Discuss.
yelleror & Wewd d (Al @1 fadeer & |

Discuss the importance & method of training.

faqor AT @ 8 ? 39S W@ Tk BI-dIF 4§ ?

What is marketing mix ? What are its chief elements. Discuss.
SUAIHl & [l Ui ARHRI B TN |

Explain any five rights of consumer.

e & Righal &1 avi &Y |

Explain the principles of direction.

fod S yee

Long answer type question
5 x 4 = 20 Marks

e Td frramr # W awEm |
Explain relationship between planning & controlling.
foRoT & AW W oMY w7 W € ? awgell U Wanil & oy § g9 @ enf
g ? ey |
What do you mean by channel of distribution ? What are their functions in
distribution of product ? Explain.
Pridier ol B R B T Ted BB A § 2 e
What are the factors affecting working capital ? Explain.

e @ gRyTeT < | |/ A v 9eRTe ufhaT § ? TR Y |

Define planning ? Is planning a mental process. Clarify.



